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Some airplanes are made specifically to land on water, but US Airways Flight
1549 was not one of those planes. The plane took off from LaGuardia Airport on
January 15, 2009, with 155 people on board. Just three minutes later, the pilot,
Captain Chesley Sullenberger, radioed that the plane was in trouble. It had hit
some large birds, and the left engine had exploded in fire, smoke, and metal.

Captain Sullenberger quickly realized that the plane could not make it back to
the airport. The aircraft was rapidly losing power and would soon be too slow
to stay in the air. Sullenberger turned the plane toward the Hudson River, which
flows between New York and New Jersey.

After several stress-filled minutes, Captain Sullenberger landed the plane
perfectly on the surface of the Hudson River. People watching from cars that
were traveling between New York and New Jersey were shocked at the sight. The
plane’s passengers climbed onto the wings as the plane began to fill with water
and sink. Boats from both sides of the river rushed to aid the passengers. The
waters were icy cold, and the smell of gasoline filled the air. As passengers jumped
from the plane to the waiting boats, rescuers handed them blankets, coats, and life
jackets to stay warm.

All 155 people were brought to safety, and Captain Sullenberger was celebrated
as a hero. It was the first time a major aircraft had ever crash-landed in water with
no deaths.

1- What is the passage mainly about?
1) The life story of Captain Sullenberger
2) The first bird strike in aviation history
3) The emergency landing of Flight 1549
4) How to make an emergency landing in water

2- What does the word “those” in paragraph 1 refer to?
1) Airplanes in general
2) Water-landing airplanes
3) Airplanes belonging to US Airways
4) Airplanes taking off from LaGuardia Airport on January 15, 2009

3- According to the passage which of the following is TRUE?
1) The plane got into trouble around the time of landing.
2) The pilot knew the engines had some problems when he took off.
3) The rescue helicopters were soon able to land a rescue party at the crash site.
4) The pilot made a wise decision not to try and get the plane back to the airport.

4- How did this landing differ from other emergency water landings?
1) The plane did not sink.
2) The captain showed great bravery.
3) None of the passengers were killed.
4) The plane was not designed to land on water.
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@ Are Americans today waiting longer to get married? According to 2003
Census Bureau figures, (1) is yes. The Associated Press reports that
one-third of men are still single when (2) age 34 and that nearly one-quarter
of women are still single at (3) . Compared with data for 1970, these
figures are four times (4) . In 1970, the percent of never-married men aged
30-34 was 9 percent; the rate has risen to 33 percent. The percent of never-married
women (5) from 6 percent to 23 percent. The typical marriage age for men
in 2003 was 27.1 years, up from 25.3 in 1970. The typical age for women rose
from 20.8 to 23.2.

1- 1) answer
2- 1) they reach

2) an answer 3) the answer

2) they’ll reach

4) your answer

3) they reached 4) they’re going to reach
3- 1)age 2) an age 3) that age 4) those ages
4- 1) fewer 2) simpler 3) longer 4) higher
5- 1) improved 2) increased 3) lowered 4) strengthened

@ A man was filling up (6) car when he saw a penguin standing by a
pump. He asked the cashier, “Why is there a penguin standing next to the pump?”’
The cashier replied, “I don’t know. It’s been there all morning.” The man replied,
“Well, we can’t leave it there. What should we do?”” The cashier said, “I’d take it
to the zoo if I could (7) the time.” “That’s a good idea,” the man said. “I
(8) it now.” So, the man put the penguin in the car and drove away. The
next day, the man returned to (9) garage to fill up, and the penguin was
still in the car. The cashier asked him, “I thought you took the penguin to the zoo.”
The man replied, “T did. It had a really good time, so tonight I (10) itto a
fish restaurant.”

6- 1) the 2)a 3) that 4) his

7- 1) spare 2) take 3) found 4) increase

8- 1) take 2) taking 3) will take 4) am going to take
9- 1) a different 2) a similar 3) the same 4) the next

10- 1) take 2) taking 3) will take 4) am going to take




AL
> sl Bl Voo¥ JLo ol (3. S8 Elg33l 6 8 on yoo |y 555 ol oyl sla Sl LT I

g Kt 3350 it ) o (S VP (o 2 By (310 g o a3 0 S oy Mndgaly ol el [ Iy 0]
Jlo 3 el YUl lea Sl cpl AV b (slmodls b dulio ;> disad 3y5e join cpw o) )3 65 )y Ly s
Juoyd ol By Y 2o YV B 25 ol 3gy duoyd A cdidgy 03,55 lgasl 5550 oS glal¥F B Y'Y o 30 Ao p> NAY-
J YY1 lape (el Yoot Sl 3 1o Jsans oy 0L ialdl 5o ys VY 4y 2o 3 5 5l i3 03,55 glgd) 5550 5 b
bl ol38l oy Jo YV a5 Yo/A 51 65 sl glonsl Joame oy ol VAV 53 Jlos YOIV 51 5YL a7 g
PaiyS -y

M0 35 Loy Aaly SG 2 9 o Lo Wilgi e ple 3 ke el ()

Sl S (¥

[Jigms call gz (¥

L Cly> (F
29 S oolitl oy Jab | al oo Whe 5if L) By 5l oy & g sloaler 3 paiosled Ve -y
oS o ool ool Jl> Jx8 S5 5l o 51 50508, (6l exBlge ol

YaiyS -y

(559) (o o2 (¥ 515 35 by By & )

O o1 (F (48,20) (o o (F
FaiyS -¢

i ¢ 3YG (F F¥sb (¥ yoolw (¥ S (A
YaiS -8

0 gl (F cl ials (¥ el gl (Y cly sy ()
ama

s 500 51 392 03kiu] amy o HUS &S W3 ) 59K 45 3,5 a5 1) 395 (ggpen [SL] sy 5,0 PP

2 Zwly 2y €l 0390 byl 1) s plod il oir 1y Fwly HlGasio (Gl odliun] caay JUS (560 S 12
orlazt) S ol &) (B il S S Jfagghis oniSs wl 2 oy b gled I el ol Lo
939 JBI3 1) 995 3y el €2 waled 1) gl YT (e sl (193 S92 1S 30 p3 00 g Bl ]y ol o
55 ogaio S5 5995 5 e 39S 9 CutSil LB lon 4 it lp 30w gy 28y Ll Sl g culiS
pil 225 (e gl dIS g3 ol 4 (S pay ol sl 3pe 0 iy EL A ]y (595 23,5 S i
Cere by Ohgiwy 4 1) ol cutal
FeaiyS -5

29b Ol the bolres g ad e JS5 4 Wl a0 o0 ks €5,3950 il o5 el b gl 092 (O

[g,005] S (v

[5)_355] QT (¥

og5 [sg,005] (F
VaiyS -v

e il (F 55 s (1 s (¥ o pelais ()
oS oo 00liiual (Wll) ool 00T o 5l o] 4y bogs o 005,58 ¢ ST slopeanad (o 51y w@ﬁ -A
PaiyS -4

Sglae (A

o (F alas (Y

S s o0lii] 2OINE 10 & lus 5l palon S S6 T 4y L 51 a8 lbpeeas ola sl S -y

OS¢ ylen (V

€S 55

Slady 5 dulin
deod o ¥ 9N Jlgw
iyl S Eomne oS

oW by dlmwls
Ty sl 35 Ao 5l
Cone oS rogd M o ¥
baplej o sbyalS
g o a5l 38
0B b oo plaS
g,:]? L')))gl..\:g__ prow|
290 gl ol

o oS psblos
O e slacls
ol ool > ol S5y 4
olaly bl o281 b
b ol

Sbjgls Sl 1 S8
S o 1y OS
adg o> & Lo
YEA doxino > oS njols
S asl o sl ool
4 l) QS ol syl
cole il S 5 JSO
plazag wo3)ls3 5 4l
u.\&e)l«i &l aslen b
el logesl e
S o3lizal b 5 o

2 sl odleiiy ey
Gl ABB Y oIS 4o
reS b il oS Yl
B9 Mad eplaies Iy
ey )08 5 45,655
ele jolf & s
Iy S CalS o sy S
Layia 4155 o ey et
45 e obles )

PVe



192|(3

YO
fFOOOO

31

1129 it o g pawlyus

It’s not necessarily true that the longer you study, the greater your chances of
getting a high score on a test. Time alone won’t guarantee your success. You must
study effectively, making the best use of your time. First, before an exam, talk to
your teacher. Instead of asking, “What’s on the test?” you can request guidelines
about what topics will be covered and how you can best prepare. This information
will provide a purpose for your study. Next, find a place to study where you will
remain awake and undistracted: a desk in a library is better than a bed near a
television. Then, with your purpose in mind, reread your class notes, textbook
sections, and other materials. Underline key information and mark points that you
do not understand. When you have finished this review, go back to these points
and try to answer them. Use any chapter summaries or review materials that are
available. Finally, if the teacher has provided sample test questions — or if review
questions are available in the textbook — try to answer them. They will help you
do a final check of your readiness for the exam.

1- What does the passage mainly discuss?
1) The importance of tests in students’ educational success
2) The negative effect of studying longer than normal
3) The teacher’s role in students’ test performance
4) The way to prepare the best for tests

2- Which of the following best describes the structure of the information in the
passage?
1) A goal is set and its effects are described one after another.
2) An approach is introduced and the steps involved in it are mentioned.
3) A claim is made and evidence to show that the claim is wrong is offered.
4) A problem is referred to and the possible solutions to get rid of it are listed.

3- The passage suggests that when exam time is close if a student asks his/her teacher,
“What’s on the test?”, that student
1) is on the wrong path
2) shows he/she is anxious
3) will not receive a response
4) would make the teacher disappointed

4- The phrase “these points” in the passage refers to the points
1) included in key information
2) one has failed to take a look at
3) of material other than class materials
4) one has not been able to comprehend
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